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Academic Year: 20222023,

Minu.tes of meeting ‘ .
IQAC was held on 9 l 1293 in the department of Mathematlcs, SDMCET Dharwad to discuss-

T
the Internal’ Assessment question paper=P/ II - oﬁ:m: semester UG in the Course 9"% W{”"""‘d’h‘
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? with Course Code 9.9-\.1M6{300
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Department of Mathematics

Internal As i
.mE:mm::." I sessment Test - II

: 12/2023
Course Title & Code: Date: 13/12/20

Engineering Mathematics-II1 22UMAC300)  Time: 9-30 To 10-30 AM
Course Teacher(s): JK, DPB, SSS, VJ, BH, PSB & PBJ. Max Marks: 20
Note: Osamzou 3is compulsory. Also answer any one full question from Q1 and Q2.

Marks/COs

1 : i 4
Qla Find the Z-transform of sin(3n+5). 05M/CO2

b For a Bessel’s function J,(x), prove that 2n T . O& = HT. " +,_ Axv +J,_; Ax&. 05M/CO3
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Q Prove that ._‘uﬁ DR _ = T n E% to WS\Q QDL - 05SM/CO3

Omm Given NL _ > 3.Show that u; = 2 and u, =21.

05M/CO2

L
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Q32 Solve the &mwﬂgom equation by using the Z-transform: y,,, =4y, =0, 0SM/CO2
giventhat y, =0& y, =2.

b IfJ, Oﬂv represents Bessel’s function, then prove that J; ?vu 2z sinx. - 05M/CO3
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COLLEGE or ENGINEERING & TECHNOLOGY, DHARWAD
Department of Mathematics
Internal Assessment Test - II

Semester: IIT
Date: 13/12/2023

Course Title & Code: Engineering Mathematics-II1 (22UMAC300) ~ Time: 9-30 To 10-30 AM
Course Teacher(s): JK, DPB, SSS, VJ, BH, PSB & PBJ. Max Marks: 20
Note; Question 3 is compulsory. Also answer any one full question from Q1 and Q2.

Marks/COs
Qla Find the Z-transform of sin(3n + 5). | 05M/CO2

b  For a Bessel’s function J,,(x), prove that 2n T - 0& =x[J .1 Axv +J, O& 05M/CO3

2z +3z+4 v
Q2a @Given NN._.‘ U_ |AN|.I% > 3.Show that U = 2 and Uy = 21. 05M/CO?2
b _ %-L
.- Onv represents Bessel’s function, then prove that e? MUN, J ﬁ v URAAEOS

Q32 Solve the difference equation by using the Z-transform: .<=+N -4y, =0, 05M/CO2
given that y, =0 &y =2.

; 2
b IfJ, ?V represents Bessel’s function, then prove that J, Axvu — sinx. 05M/CO3
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Semester: Iyy Solutions and Scheme

Date: 13/12/2023
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itle & C
ode: Enoineae: .
| nginecey Ing Mathematics-I11 Anucg\wﬂucs Time: 9-30 To 10-30 AM

» SSS, VJ, BH, PSB & PBJ. Max Marks: 20
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